Multiplicar por potencias de diez (nimero faltante)

Nombre:

6, 786 x

6, 955 x

7,23 x

7,493 x

1,512 x

3, 644 x

8,999 x

4,078 x

4,563 x

8,631 x

= 695.5

= 7230

=749.3

= 1512

= 36.44

=899.9

=407.8

=45.63

=86.31

4,934 %

5,938 x

1,677 %

9,306 x

2,163 x

7,071 x

7,331 %

1,93 x

Fecha:

Puntuacion:

3,298 x

6,438 x
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— 4934

=593.8

=167.7

= 93.06

= 2163

= 7071

= 7331

=193

=32.98

= 64.38
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Multiplicar por potencias de diez (nimero faltante)

Nombre:

6,786 x 10 = 67.86

6,955 x 100 = 695.5

7,23 x 1000 = 7230

7,493 x 100 = 749.3

1,512 x 1000 = 1512

3,644 x 10 = 36.44

8,999 x 100 = 899.9

4,078 x 100 = 407.8

4,563 x 10 =45.63

8,631 x 10 =86.31

Fecha:

4,934 x 1000 = 4934

5,938 x 100 = 593.8

1,677 x 100 = 167.7

9,306 x 10 = 93.06

2,163 x 1000 = 2163

7,071 x 1000 = 7071

7,331 x 1000 = 7331

1,93 x10=19.3

3,298 x 10 = 32.98

6,438 x 10 = 64.38
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Puntuacion:
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